OO BN T oo s e o

(H558)

WA, SMERST

Q-LOCK ELEMENTS

WIRREIRE T/ B e

N

PAT.P No.E-9659C

EED 1k - SCM440
i PR
O, EMHEERAEMME, BEEMEHEIEERXE

HE.

ik ;X HRC55

B EME
el iTEe e A Blge C D005 i E F G H | | ®EEg
966264 | QLTI9RB | 45 27 245 7 175 19 36 M4x07 45 110
nie | 966265 | QLT26RB | 58 36 305 10 205 26 46 M5x08 6 250
966266 | QLT32RB | 72 45 375 12 255 32 58 M6X1.0 7 470
967650 | QLT40RB | 88 58 465 15 315 40 72 M6x10 7 1000
966252 | QLT19CB | 45 = 27 245 7 175 185 36 M4x07 45 110
sgse | 966253 | QLT26CB | 58 36 305 10 205 255 46 M5x08 6 250
966254 | QLT32CB | 72 45 375 12 255 315 58 M6X1.0 7 470
967651 | QLT40CB | 88 = 58 465 15 315 395 72 M6X10 7 1000
BRZEMIR~}
| |
I
|
DA
D
AEM (12t 1) HEM (832 2) HEM (1. 3)
#e A AR S IFIRE D E F G H | J
QLT19 27 10033 36 M4E 8 18.5 6.2 45 18 7.8
QLT26 36 18838 46 MS®10 215 = 7.3 6.0 23 105
QLT32 45 1883 58 M6R12 265 9.7 7.0 29 13.0
QLT40 58 10558 72 M6®12 = 325  12.0 7.0 36 130
K QAMEBRVERE: £001LIA. (BT+0.01R, FHREZRTIMAQARS, HRBATLE. )

http://www.nabeya.co.jp



